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Tell whether the ordereq pair is a solution of the equation.
1. y=5x(5, -3) Ry =zt Hi(=2)1)

3. &x-5Sy=1;34,3 4.7y - 3x=11:(58)

Find the value of d when r has the given value In the equation.
5.d=25r,=¢4 6. d=3r+ 120;r =62

7. d—5Sr=40,r=4 8. 12r—d=-240;r=9

Graph the equation. Tell whether the equation Is a function.

3
9. y=x~3 10. y=2x+4 By
y
N E 14 T ]
2
=3-2 |o| 1 23 4 51 : I
-24| I
. 4 -4-3-2 o] 1 2 3 4x
M 3 s
I . '2
—sU | I3
e 4
| -4-3-2 |0 2 354X |
1
12. y= —3x+2 13. x= -1l 14. y=38
B P 4 Yy
4 8 14
3 6 12
2 4 10
I 2 8
6
-4-3-2 |0 2 3 4x -12 [-8 [-4 o] [« ¥
-2 -4 2
3 6
| | -8-6-4 [0f 2 4 6 8 x

15. x=8 16. y=—1 17. y=2(x+ 1)
AL [ P : y
6 2 5
4 4
2
-4-3-2 |0 2 3-8 i
=iy O] 2 4 6 10 12 x 2
™ : 2 |
/) ) "
: L e -4-3-2 |o 2 3 4x
| r 1 1] A
Copyright © McDougal Littell/Houghton Mifflin Company ‘ Pre-Algebra 103
All rights reserved. Chapter 8 Practice Workbook

- L ——e R S R BT R ey "




LEssoy Name pate _——

S, Practice
nued For use with pages 391-397

Write th
© equation In function form. Then graph the equation.

18- Tx — =
g 19, 15v+y=20 20.
L N B i SN B
T 1Y Y -
A O ey N - —1—20 «I {—
_8_6'_::1——42 2 4 6 8¢«
4
i o L—q_,_(, - | |
e L_}—;ﬂ —1 S5
21. 6y —3x =12 23.
— ]
4
3
1
-4 -3-2 3= 4 x

Q
—tr
-

W

|
|
|

4

mass x in kilograms to a weight y in

24. The formula y = 2.205x converts a
270 kilograms. What is its weight

pounds. A sports car has a mass of 1
in pounds?

ademic scholarship that is awarded
= 2700x can be used to find the
this scholarship after x years.

d after 12 years?

25. A high school booster club sets up an ac
to one student each year. The formula y
total amount y of money awarded through
What is the total amount of scholarship money pai

Find the value of a that makes the ordered pair a solution of the equation.

28 %y = 3+ 7;(-3a) 27.v=11-217%(@, ~10)

28. 2x + 4y = 14;(-5,a) 29. 9x—5y= -9, (a—1,9)
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|dentify the x-Intercept and the y-intercept of the line.
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Find the intercepts of the equation’s graph. Then graph the equation.
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16. You are in charge of buying salads for a picnic.

You have $20 and plan to buy potato salad uﬂ(:|
pasta salad. Potato salad costs $1.25 per pounc.
and pasta salad costs $2.50 per pound. Write an
equation describing the possible amounts of
potato salad and pasta salad that you can buy.
Use intercepts to graph the equation.

17. A car rental agency rents economy and lu::rl;y
cars by the day. The number of economy _ 3
y rented in one day is given by the equatio
y = 24 — 4x, where x is the number of luxury
.cars rented. Find the .\‘—imerce.pt fmd fheh ise
y-intercept of the given equation s grl-;l"“'l iy
the intercepts to graph the equation. HO o
economy cars are rented when 4 Juxury cars

have been rented?

1

S s 1 S.
18. The rectangle shown has a perimeter of 52 inche

ibi i lues
a. Write an equation describing the possible va

of x and y.

b. Use intercepts to graph the equation from part (a).
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Luxury cars rented

¢. Give three pairs of whole-number values of x and y that could represent

side lengths of the rectangle.
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